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Agrest
Jagody 
czarne

Maliny
Porzeczki 

czarne
Porzeczki 

 = 18  = 10[11]  = 9[8]  = 20[8]  = 8  = 10  = 35[12]  = 24[12]  = 19[3]

x
w  

0,883[7] 0,851[7] 0,868[5] 0,851[5] 0,858[5] 0,847[7] 0,842[5] 0,857[1] 0,900[1] 0,830[7]

t
kr  

[ C] -1,7[8] -1,5[1] -2,0[8] -1,9[1] -1,1[1] -1,0[8] -1,0[8] -2,2[8] -1,2[8] -3,3[8]

o  
3] 1050[1] 1000[8] 990[8] 1000[8] 998[8] 1000[8] 1000[8] 1030[8] 950[8] 1040[8]

z(-18)
3] 980 935 929 939 934 934 934 966 884 981

z(-30)
3] 977 932 926 936 932 932 932 962 882 976

c
o 

K] 3,77[8] 3,60[8] 3,60[8] 3,60[8] 3,56[8] 3,69[8] 3,69[8] 3,68[8] 3,88[8] 3,64[8]

c
e 

K] 1,93[8] 1,89[8] 1,89[8] 1,89[8] 1,88[8] 1,89[8] 1,89[8] 1,88[8] 2,01[8] 1,89[8]

e
 K] 1,88[8] 1,86[8] 1,79[8] 1,76[8] 1,82[8] 1,86[8] 1,86[8] 1,80[8] 1,95[8] 1,67[8]

q
z  

293,6[8] 285,3 282,0[8] 275,0[8] 283,8[8] 279,6[8] 279,6[8] 286,1[8] 289,6[8] 279,6[8]

i
p  

430,5 417,5 415,0 407,8 414,2 412,4 412,4 420,5 430,4 415,6

i
e  

42,5 41,6 41,6 41,6 41,4 41,6 41,6 41,4 44,2 41,6

19,3 18,9 18,9 18,9 18,8 18,9 18,9 18,8 20,1 18,9

* 

       Dane C 2

- Metoda
LIN

Metoda
 LIC

Metoda
LIN

Metoda
 LIC

Agrest -36[1] -37[1] -108 -49,3 17,5[1] 104,5[2] 54,5[1] 28[1]

-36[1] -37[1] -108 -49,3 17,5[1] 95[2] 54,5[1] 28[1]

-36[1] -37[1] -108 -49,3 17,5[1] 155[2] 54,5[1] 28[1]

Jagody czarne -36[1] -37[1] -108 -49,3 17,5[1] 95[2] 54,5[1] 28[1]

Maliny -36[1] -37[1] -108 -49,3 17,5[1] 104,5[2] 54,5[1] 28[1]

Porzeczki czarne -36[1] -37[1] -108 -49,3 17,5[1] 95[2] 54,5[1] 28[1]

-36[1] -37[1] -108 -49,3 17,5[1] 95[2] 54,5[1] 28[1]

-36[1] -37[1] -108 -49,3 17,5[1] 135[2] 54,5[1] 28[1]

-36[1] -37[1] -108 -49,3 17,5[1] 149[2] 54,5[1] 28[1]

-36[1] -37[1] -108 -49,3 17,5[1] 104,5[2] 54,5[1] 28[1]

e
) -18 C i -30 C

-18 C -30 C -18 C -30 C -18 C -30 C -18 C -30 C

Agrest 33,0 34,9 6,4 6,8 3,7 3,9 15,2 16,1

16,6 17,5 3,3 3,5 1,8 1,9 7,6 8,0

16,7 17,6 3,3 3,5 1,8 1,9 7,6 8,0

Jagody 

czarne
14,7 15,6 2,9 3,1 1,6 1,7 6,7 7,1

Maliny 33,1 35,1 6,6 7,0 3,8 4,0 15,4 16,3

Porzeczki czarne 17,7 18,8 3,5 3,7 2,0 2,1 8,1 8,6

16,1 17,0 3,2 3,4 1,8 1,9 7,4 7,8

65,3 68,9 12,6 13,2 7,8 8,2 30,7 32,4

39,3 41,7 6,2 6,6 4,6 4,8 18,3 19,4

35,5 37,5 7,1 7,5 3,9 4,1 16,2 17,1
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